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


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
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
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
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












     








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


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






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


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  
  


   



  


  
   






  

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 


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
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






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




  
  


  











 



























   






















20 














































































25 







 


























  
  


  









    



















30 









 










 
  






      






     






    
    



35 




 










    



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


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



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
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
  

40 








    







  
  





















 









        

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



  


      

45
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



  


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
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


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




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
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
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
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
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
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
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



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






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








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
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
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
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







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


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
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


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





 
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











    


  









    














  
  






115 






  

 










   




















    








    
  












    

120 











































  
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2) Indecipherable or crossed out note on 2nd course deleted by editor.
1) i in orig.








 



  








  



 









125 










    







 







  








 
   







 


















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




    



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






















   



 





  











    



  

135 







  

     











































































140 











































































145 











    







  
  












  
  
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